5.7 Unit 5 Test Review u‘ﬂ
i
parallelogram, In £I3JKLM, LM = 17 cm, KN = 13.5 cm,
and mZKJM = 102°. Find each measure.
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4. m/JKL 19* 5. mZML4@’ 6. mZKLM (020

7. Three vertices of CIABCD are A(~3, 1), B(5,7), S
and C(6, 2). Find the coordinates of vertex D.
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WXYZ is a parallelogram.
Find each measure. (52 — 39)°
8. wx | 9. YZ || 6b — 7 10b— 19
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13. Show that GHJ/K is a parallelogram

12. Show that RSTV is a paralielogram
form=12and n =9.5.

orx=56.dnd ¥ =4.5.
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Determine if each quadrilateral must be a parallelogram. Justify your answer.
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The flag of Jamaica is a rectangle with stripes along the diagonals.

In rectangle QRST, QS = 80.5, and RS = 36. Find each length.

18. SP 19. QT 20. TR 21. 7P 40.2S
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GHJK is a rhombus. Find each measure. a7 \H
22. H/ &S
., 3a+9
23. mZHJG and m£GHJ if mZJLH = (4b — 6)
and mZJKH = (2b + 11) paeHIB= B} & K /
_ mLGHE i 3
24. Given: QSTVis athombus. PT=RT P+ | >R
Prove: PQ = RQ VS -~ 3
=
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Determine if the conclusion is valid. If not, tell what additional information
is needed to make it valid. B C

25. Given: AC 1 BD Not valiol
Conclusion: ABCD is a rhombus.

26. Given: AB= CD, AC = BD, AB || CD
Conclusion: ABCD is a rectangle.
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Find the value of x: Find the measure of angle K:
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Use the Pythagorean Theorem to ﬁ.nd theside lengths of the kite:
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25t4 - Find the measure of angle A, B, &C:
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